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Sample Paper – 2012
Class – XII
Subject –Economics
Duration :   3 Hrs                                                                                                                                        Time :3 Hrs
1. Define positive economics.                                                                                                         1

    Ans. The economics which is related with statements which  describe ‘what’ , how, and why under    

       given circumstances

2. Define inelastic demand                                                                                                             1

    Ans. When change in demand is less than  change in price it is called as inelastic demand.

3. In which competition a firm is the price taker?                                                                      1

    Ans. In perfect competition a firm is the price taker.

4. Why demand for water is inelastic?                                                                                         1

    Ans. Because  water is basic necessity. 

5. What is the shape of MR curve of a firm under competitive market.?                                 1

    Ans. MR curve is horizontal straight line parallel to X axis.


6. Explain the  problem of an economy related to “ distribution of product” . give example.3

    Ans. This problem is related with the distribution of national product/national income. It may be 

              analysed in two phases

a. Functional distribution: Where national income is divided among different  factors of production in the form of rent, wages, interest and profit. This problem is the basic problem of unequal distribution of income.

b. Personal distribution: This problem is related with the distribution of national product among different sections of the society. This problem is basically related with the price determination of the product.

7. Distinguish between increase in dd and increase in quantity demand.                                 3

	     Increase in quantity demanded
	                       Increase in demand

	1. It refers to the more demand at less price.

2. Major reason is fall in price

3. Factors other then own price will remain same

4. In it we move downward on the same curve.

Price

                                         d

                      Demand


	1. It refers to the more  demand at same price.

2. Major causes are—rise  in income of buyer, increase in priced of substitute goods, decrease in the price of complementary goods, increase in no. of consumers, etc.

3. Own price of the commodity will remain same.

4. In it complete curve will shift to the rightward.



         Price

                                            d  d1
                                        

                                      Demand




                                                                     Or

          Why demand curve of normal goods is negatively slopped downward?

Ans.  The demand curve for normal goods  is negatively slopped downward because  in case   of normal  

           goods price effect  is negative .Price effect is   

                                   Price effect = Substitution effect + Income effect

             Whereas  substitution effect  is  negative  and income effect is positive .

             So Demand curve for normal goods is negatively slopped downward

8. How does the change in income of buyer is related with the dd for a commodity?          3

    Ans. The effect of change in income on demand for a commodity may be analyzed in the following   

              ways

a. Normal or superior goods

b. Inferior goods

	          Normal goods/ Superior goods
	                           Inferior goods

	1. Those goods whose demand increase with rise in income and decrease with fall in income of the buyer are called as normal goods.

2. In case of normal goods income effect is positive. Means

a. with  rise in income dd will increase,

 b. with fall in income dd will decrease

3. For exp. Sugar, LCD, Wheat


                    

 Price                 

                                                    DD↑ due to Y↑

                                     d0  d    d1

DD↑ due to Y↑   Qty

	1. Those goods whose demand increase with fall in income and decrease with rise  in income of the buyer are called as inferior goods.

2. In case of inferior goods income effect is negative. Means-

a. with  rise in income dd will decrease,

 b. with fall in income dd will increase

3. For exp. Gur, B/W TV, Bajra   



         Price                                    DD↑ due to Y↓          

                                              do    d      d1

           DD↓ due to Y↑             Qty



9. A consumer buys 10 units of good X at a price of Rs 5 per unit. The price elasticity of demand for this good is 2.Price falls to Rs 4/unit. How much units of good X will he now buy at this price?                                 3

      Ans.    Given          P= Rs 5/ unit                                                             P1  = Rs 4/unit

                     Q= 10 Units                                                                Q1 =  ?              Ed = 2

                     ∆ P = P1 -  P  =   4  - 5 = -1

                     ∆Q = Q1 -  Q =  Q1 – 10

Thus                              ∆Q              P                        

                    ED  =  (-)------    X   ---------            

                                      ∆ P              Q                           

                           Q1 – 10                 5

                      2   = -------------    X --------------     

                               1                    10

                     4   = Q1 – 10

                     Q1 =  14

  Thus at new price te qty demanded is 14 units.

10.  State whether the following statement are true or false. Give reason                               3

A. Ist stage is the best stage  of production.

       Ans. False. Because if producer stops in the first stage of production the resources may remain 

                unutilized.

B. Summation of MC is equal to TC.

      Ans.  False. Because TC includes TFC and MC  is   the additional cost of hiring additional variable 

               factor of production .so summation of MC is TVC

C.     Minimum of AC lies on the left of the min of AVC.

    Ans.  False. Because AC include  AFC as  a result min of AC comes after min of AVC

11. Why AR curve of a firm under oligopoly is indeterminate ?                                             4

    Ans. The AR curve of  a firm under  oligopoly is indeterminate due to high interdependency of firms 

              regarding output and   price decision.

	              

AR

                                  AR                                                     

                     DD


If  a firm under oligopoly decrease the price ,the rival firm will  

also decrease the price as a result the firm in question who decrease the price 
will not get any benefits of decrease in price.

If firm increase the price the rival firm does not increase  the price in such 

case firm in question who increase the price will  loose its existing consumer 
,there is uncertainty in the behavior of firms due to which firms AR curve is indeterminate.

12. A consumer consumes only two goods x and y at a certain level of consumption of these two goods  he finds that MU of both commodity is not equal. Explain the reaction of the consumer.                                                        4

	

M Ux                                                    MUy

MUx>MUy                   E

                                              MUY>MUx
        MUy                        MUx


               Q0     Q      Q1

                         TE


       Ans. When a consumer  is consuming two goods then his  

                equilibrium is  determined at  a point when

         MUx/Px    =   MUy/Py = Mum

If MU of  both commodities are not equal to each other then consumer’s reaction may be explained as 

a. If MUX /Px > MUy/Py  then  consumer will increase the consumption of  X commodity ( because its utility is greater than  utility of Y commodity) as a result with increase in consumption of more units of X commodity the utility of  X  falls   and this process will continue until MU of x is not equal to MU of y commodity.

b. If MUX /Px < MUy/Py  then  consumer will increase the consumption of Y commodity ( because its utility is greater than utility of X commodity) as a result with increase in consumption of more units of y commodity the utility of  y  falls   and this process 

will continue until MU of y is not equal to MU of  x commodity.

13. Define AVC . How it is related with MC. use diagram.                                                          4

Ans. AVC :  It refers to  the variable cost per unit of output.   AVC = TVC /Q


                                               MC          AVC            Relationship

AVC/MC                                                         1. If AVC falls then MC falls more rapidly then AVC ( AVC > MC ) 

                                                                         2. If AVC rise then MC rise more rapidly then AVC ( AVC < MC)

                                                                          3. MC cuts AVC  at its minimum point. Or If AVC is min MC =AVC   

                                                                         4. Both are calculated from TVC                           

                                  output

                                                                              Or

In perfect competition AR=MR  whereas in imperfect competition AR>MR. Explain why?

         Ans. In  perfect competition AR = MR 

As we know that in perfect competition  price (AR) is constant because firm is the price taker   therefor AR is constant , so additional revenue (MR) derived from the sale of each extra unit is also constant and just equal to AR . Therefore AR = MR

In imperfect market AR > MR

In imperfect market ( monopoly and monopolistic competition) in ordr to sell more the firm have to reduce the price therefore AR falls as a result  additional revenue(MR) derived from the sale of each extra unit of a commodity is also falls and rate of fall in MR is greater then AR therefore AR > MR

	AR = MR ( Perfect Market)


 AR                              AR=MR

MR


Qty
	 AR > MR (Imperfect market)


AR/MR

                                          AR

                         Qty           MR


14.  Explain the effect of  followings on supply curve of a commodity

Ans. a.   Rise in input price  

                                                                                                                                                                           S0
                           As input price increase the cost of producing each extra unit will also increase                                       S

           so  producer decrease the production .Therefore supply decrease and supply                                                       

           curve will shift to the leftward.                                                                                Price

                  b.. Decrease in  per unit Tax                                                                                                                           
As per unit tax decrease the marginal cost of producing one extra unit of commodity                         s

also decrease.  Therefore producer increase the production as  a result supply will also                           S1
increase and  supply curve will shift to the rightward.                                                  Price


                                                                                                                                                                                                                                                                      supply

15. Explain the condition of consumer equilibrium in case of  2 commodity by IC approach. What would happen ifMRSxy is not equal to the price ratio.                                                                                                                   6                                                                                          

       Ans.  Consumer equilibrium

It  refers to a situation in which a consumer tries to maximize its satisfaction in his given income and does not have  any tendency to change until the circumstances does not change.

Condition of consumer equilibrium

According to IC approach  for consumer equilibrium following two conditions    

a. Slope of IC curve  =  slope of  budget line  

	                                                    

             A

Good2
                            E   

IC3
                                           B         IC1

                                    Good 1


MRSxy       =          - P1/ P2                                                                                                                       

b. IC must be convex to the origin.               

Acc. To the diagram point A, B, E lies on the budget line but 

Point A and E lies on the lower IC urve which gives less satisfaction but consumer have to spend the same amount on both as much on Combination E.

Point E  lies on the higher IC  curve and gives more satisfaction  then A and E in same expenditure thus consumer satisfaction is maximized on Point E.

If MRSxy ≠ price ratio then there may be two situations

           If  MRSxy > Px/Py

       Suppose the MRS at such a point is 2 and suppose the two   

       goods have the same price. At this    

       point, the consumer is willing to give up 2 units of good 2 if she is given an extra  unit  of   

       good  1.  But suppose  in  the  market, she  can  buy  an  extra  unit  of good 1 if she gives up  

       just 1 unit of good 2. 

                 Therefore, if she buys an extra unit of good 1, she can have more of both the goods compared 

                 to the  bundle   represented  by  the  point at which MRSxy > Px/Py,  and  hence,  move  to  a  

                 preferred bundle. Thus, a point at    

                which the MRS is greater, the price ratio cannot be the optimum. 

                     A similar argument holds for any point at which the MRS is less than the price ratio. 

16.      Explain the behaviour  of output when firm changes only one input keeping other as fixed. Which is the best    

      stage of production?                                                                                                                                                   6

     Ans.  The behavior of output may be explained in terms of law of variable proportions

              “ As more and more units of variable factors are combined with fixed factors  initially MP  

                increase then become  smaller and smaller as a result  initially TP increase at increasing  

                rate , than at diminishing rate and finally  start  

                falling.”

                 This law explained in the following three phases

                                                                                                     phase 1 : increasing returns

                                                                                                     phase2: Diminishing returns

                                                                                                     phase3: Negative returns
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	stages
	    TP
	     MP
	    AP

	1
	Initially increase at increasing rate
	Increase and reach at its max
	Increase

	2
	Start increasing at diminishing  rate and reach at its max. 
	Start falling and becomes zero
	 Reach at its max. and start falling

	3
	 Start falling
	Falls and becomes negative
	Falls continuously but never become zero


                                                                        Or

a. Explain the condition of producer equilibrium by using MR-MC approach. Why  should MC   be rising?

         Ans.    MR –M C approach

                     Acc. to this situation producer’s eq’m will be attained at that level when  the following  

                     situations are to be satisfied

· MR = MC

· MC should be rising  ( MC should cut MR from below)

                        In perfect  Market :                                                                       In Imperfect market

	In imperfect market MR curve is negative slopped                                                                                        


MR/MC                                                    MC                           
  

                                                             E               MC>MR

MR> MC                                 t

                                 Qty           Q0      Q       Q1               MR



	 In perfect market MR curve is a straight line                                                       

                                                                                              MC

        MC                                                                   MR =AR                                              
                                                             E

        MR           

                                              t


                          O            Qty(     q1                q

  


                    Acc to   both diag.  MR = MC at point E 

            At E point where MR = MC  we consider  the rising  part of MC after point  t on MC curve.

             before eqm point  E  MR > MC

             so producer will not stay here because he  can       produce more  until oq level of  output  .   

            after eqm point  E  MR < MC

             therefore producer will not produce after   oq level of output.Thus equilibrium will be

             attained  at point E.

                     Why MC should be rising -------  please  Refer  to NCERT

b. Market for a good is in equilibrium. If govt. Decrease the subsidies, explain its effect on  equilibrium price.    

         Ans.    If govt. decrease the  subsidies then cost of production will increase and producer will  

                   decrease the production as  a result the supply curve will shift leftward. See part 1 diag. given 

                    below---

                     Effect of  decrease in supply curve on Equilibrium price    


                                                          S0                               Price                      D                              S0
Price                                                      S                        P1                             E1              S

                                                                                     Pe                                         E


                                 Qty--                                                                        Qty          Q0    Qe                                                                                                

Acc. To the diagram Part 2 of the above diagram

With decrease in supply curve the equilibrium point will shift from E to E1  as a result—

a. Equilibrium price will  increase from OPe to OP1    

b.   Equilibrium qty  will decrease from OQe to OQ0                                                   3+3 =6

                                                            Section B- Macro Economics

17. Define primary deposits.                                                                                                                1

   Ans.  The cash deposited  by public/depositors in bank is called as primary deposits
18. Define fiat money.                                                                                                                           1  

    Ans.  Money issued by the order of government is called as fiat money. 

19. What do you mean by frictional unemployment?                                                                        1

    Ans.  It is temporary unemployment which arise due to change in job by a worker i.e from one job to 

              another job.
20. Define consumption function.                                                                                                        1

    Ans.  The functional relationship between consumption and income is called as consumption function.

21. What do you mean by spot exchange rate?                                                                                 1 

   Ans.   The exchange rate at which current  transactions took place in forex market  is called as spot  

             exchange rate. 

22.  From the following   calculate gross domestic capital formation                                            3

            Item                                                                                 Rs. Crore

Net indirect tax                                                                        10

Opening stock                                                                          25

Net domestic fixed capital formation                                      180

Closing stock                                                                            25

Consumption of fixed capital                                                   20

              Ans.    .            

	Item
	 Rs(in Cr)

	Net domestic  fixed capital  formation

+ closing stock

- Opening stock

+Consumption of fixed capital


	           180

             25

             25

             20

	= Gross domestic capital formation
	 200




23. Explain  how non monetary exchanges are  a limitation  in taking GDP as an index of welfare?                             3

    Ans.  GNP fails  as an  index of welfare in case of nonmonetary exchange because in case of certain  

              transactions ( non monetary  transactions) like services of house wives, leisure hour activities etc. 

             are not included due to

a.  non availability of data 
b. It is difficult to measure their market  values 
c. These services are produced  and consumed at home and does not  enter into the market.
Means we can say that such goods snd services does not have price tag therefore they does not enter into the market due to which these services are called as non marketable goods and does not included in the estimation of national income
                                                                                Or

Giving reasons, classify the followings into intermediate and final goods                                          

A. machinery purchased by a dealer of machine

It is intermediate goods, because dealer purchased it for  further sale(value is yet to be added).

B.      A juicer purchased by a juice vendor

          It is a capital good because it helps in generating further income. 

24. Explain the “ Standard of deferred payment” function of money.                                                                     3

 Ans.    Standard of deferred  payments means to those payments  which are to be paid in future.

1. Money not only act as a medium of exchange for current transactions but facilitate credit transactions. Money perform this function successfully because of

a. No disagreement regarding quality ,value, and quantity.

b. The value of money is less and  more stable

c. It is generally accepted

d. It is more durable in compared to other commodities.

2. It means with the help of money people can buy  goods and services in present for which payments can be made in future i.e. in terms of installments           

25. How open market operations are  used to control the flow of credit in an economy?                                       3

  Ans.    Open market operations are those operations which are related  to the sale and purchase of 

               security in open market.

         This  measure is used by central bank  in order to withdraw or inject extra purchasing power  

          from/ in the economy.
	Expansion of credit


	       Contraction of credit

	1. In order to expand the money supply central bank purchase security from open market to inject extra purchasing power in the economy.

2.  It increase the stock of high powered money in economy which further increase the money supply  

3. As a result flow of credit increase in the economy
	1. In order to contract the money supply central bank sale security in open market to withdraw extra purchasing power from the economy

2. It decrease the stock of high powered money in economy which further decrease the money supply  

3. As a result flow of credit increase in the economy.


26. Why does demand for foreign  exchange falls with rise in exchange rate?                                                         3

 Ans.  DD for forex and exchange rate

                  The demand curve (DD) is downward sloping because

     a rise in the price of foreign  exchange will increase the cost in terms of rupees of purchasing      
     foreign goods.  Imports  will  therefore  decline  and  less  foreign  exchange  will  be dd,
	  
E rate

                           DD


                   there is inverse relationship between dd for forex and  

                   exchange rate.  

                   Exp

                   let India and USA are two   trade partners , and initial  

                   exchange rate   between these two countries is Rs 40 =$1

                   If it rise to Rs 45 =$1 then  

                   Indians have to pay more for the same dollars due to which 

                   Us goods 

                   becomes expensive — imports will falls—dd for dollars will falls and vice 

                   versa In this way with increase in exchange rate the dd for forex falls and 

                    with falls in exchange  rate the  dd for forex will rise.

27. How  is credit  expanded by commercial banks in an economy?                                       4

Ans.  Let       primary deposits = Rs. 1000

and                           CRR    = 10 %

                                  dm      =    1/CRR      =   1/ 0.10  = 10

                                  Here dm = deposit multiplier

	                       round
	New deposits( Primary Deposits)
	Cash reserve
	Loans (secondary Dep.)

	I

II

-

-
	1000.00

900.00

810.00

-
	100.00

90.00

81.00

-
	900.00

810.00

729.00

-

	 
	10000.00
	1000.00
	9000.00


                     Expansion of credit         =   dm X primary deposits

                                                              =   1/ 0.10 X Rs1000  =  Rs  10000.00

                       Reserve                           = CRR X Total credit expansion

                                                                =  !0%   X   10000       =    Rs 1000

                       Secondary deposits           = Total credit expansion -  Reserve

                                                                  =  10000  -  10000 = Rs. 9000

28. From the following data about the govt. budget find --Revenue Deficit. , Fiscal  Deficit.,   and Primary  Deficit.  4 Item                                                                                          Rs in cr

Tax receipts                                                                               50

Capital receipts                                                                         40

Receipts from fee, fine, escheats                                              15

Debt                                                                                           32

Revenue Expenditure                                                                80

Interest  payments                                                                     15

         Ans.   A.    Revenue  Deficit =  Revenue expenditure – Revenue receipts

                                                         =  80   -  65            Since-  Revenue receipts = Tax receipts + Receipts            

                                                                                        from fee , fine , escheats

                                                         =  Rs 15 Cr.                                            = 50  +  15  =65

B.        Fiscal deficit = Borrowing requirements of government = Debt 

                              =  Rs  32 Cr

C. Primary deficit    =   Fiscal deficit – Interest payments

                               = 32 -15

                               =Rs 17 Cr.

Thus  Revenue deficit = Rs 15 Cr, Fiscal Deficit = Rs32 Cr., Primary deficit =Rs 17 Cr

29. How do  the followings  dealt in budget as revenue expenditure or capital  expenditure.  Give reason in      4

support of your answer                                                                                                     

i.   Grants to UT’s                                                ii. Maintenance of roads

iii. Expenditure on tax collection                    iv. Construction of bunkers for army

        Ans.   i.    These are revenue expenditure , because these does not cause any change in the asset and 

                                 liability of the  government

ii. Revenue expenditure because it is  recurring in nature.

iii. Revenue expenditure because it is recurring in nature.

iv. Capita expenditure because it is  not recurring in nature.

                                                                             Or

Define  forex market . Explain its functions and its kinds.

     Ans.  It refers to a system where  currencies of different countries are bought and sold.It includes    

              foreign exchange    brokers ,bankers, central banks, corporate importers and speculators.

              Functions of  forex market

              transfer functions :It is related of transfer of purchasing power from one currency into another currencies of different 
              countries. means international transfer of foreign currencies.

              Credit functions: It is related with the channelization  of credit for international trade i.e. exports and imports

              Hedging functions : This functionis related with the hedging of  foreign trade risks. Here hedging refers to the covering  

             an exchange risk which arise due to fluctuations in forex mkt..

             Kinds of forex market

      Spot market

              If the operations are of daily nature  it is called as  spot market.In spot market the delivery of    

              forex has to be made on the spot usually within 2 days of transactions .

              Forward exchange market

              The market for foreign exchange for future delivery is called as forward mkt  which is done at a     

              future price at an  agreed rate.

30. Define current account  deficit. What does it show and how  is it  financed?                         6

    Ans.  Current  account deficit 

              The  current account deficit may refers to that situation in which  the sum of payments of foreign 

              exchange on   account of current account is more than the sum of receipts  of foreign exchange \   

              on account of current account .

                     Current account deficit  in balance of payments obtained when:


  The sum of  payments of foreign exchange                         The sum of receipts of  

                      On account of trade                                                              foreign exchange

                       in visible and invisibles                                             >          On account of trade in  

                                                                                                                        visible and invisibles

 It shows that if 

                A country that has a deficit in its current account  it means country is spending more abroad  

                than it receives from  rest  of the world 

                Current Account D eficit  is financed by 

1. Selling assets  i.e. gold etc or 

2. by borrowing  from abroad.                   Or

3. By mobilizing  forex by attracting deposits by foreigners  and investment of capital by foreigners

31. Calculate  (a) NNPfc    (b) Personal income      (c)Personal disposable income  

Item                                                                                           Rs crore

1.NDPmp                                                                                     38000          

2.Income from property and entrepreneurship   

    accruing to the govt.                                                                600

3.Net factor income to abroad                                                   (-)300

4National debt interest                                                                 200

5.Current transfer to rest of the world                                          100

6.Unemployment benefits from govt.                                          600

7.Net indirect tax                                                                         3000

8.Direct tax paid on income                                                        600

9.Corporate profit tax                                                                  900                                                                                                

                                                                                                                                                                                      6

       Ans.     

	Items
	Rs in Cr



	        NDPmp
-  Income from property and ntrepreneurship   

    accruing to the govt.                                                             


	 38000

     600

	= Domestic income accruing to private sector


	 37400

	-  Net factor income to abroad   

+ Current transfer to rest of the world   

+ Unemployment benefits from govt    

+ National debt interest                           
	(-)300

     100

      600

	= Private income

 
	38600

	- Corporate profit tax                                               
	    900

	= Personal income              
	37700

	- Direct tax paid on income                                     
	     600

	= Personal disposable income              
	37100


  NNPfc    =  NDPmp – Net factor income to abroad –  Net Indirect tax

                = 38000 -   (-) 300  - 3000

                 = 35300 Cr

Thus  NNPfc= Rs 35300 Cr, Personal income = Rs37700 Cr , Personal disposable Income = Rs 37100 Cr.

32.  In an economy  every time income rises , 20% of the the rise in income is spent on consumption. Now suppose that in the same economy investment rises by Rs. 1000 Cr. Calculate the followings

A. change in income

B. Change in savings

      Ans.    Given     MPC = 20% = .20

                                   ∆ I   =  Rs 1000 cr

                                    K =  1/ 1-MPC = 1/1 - .20 = 1/ .80 

             = 1.25

A.  Change in income(∆Y   )

∆Y  = K .  ∆ I   

       = 1.25 x 1000

Y   =1250 Cr

B. Change in savings (∆S)

As we know that at equilibrium level of in come  S  = I

So   ∆S =∆I 

 ∆S    =   Rs 1000Cr     

Thus change in income = Rs 1250 Cr and Change in savings = Rs 1000 Cr

                                                                                      Or

   Explain how can  changes in   a.    Bank Rate   and  b.  Public expenditure   be helpful in    

    correcting  the situation of excess and deficient AD.                                                                                          6

     Ans.   A.  Bank Rate: The rate at which central bank provides credit to the  commercial bank is called  

               as Bank rate.The basic objective of increase or decrease in bank rate is to inject or withdraw  

               extra purchasing power  from the economy.

	                          Excess AD
	                    Deficient AD

	1. In order to control the situation of excess AD bank rate is increased 

2. Cost of capital increased

3. As a result  market rate of interest increased

4. Flow of credit decreased

5. AD falls                                                          


	1. In order to control the situation of deficient AD bank rate is reduced.

2. Cost of capital decreased

3. As a result  market rate of interest decreased

4. Flow of credit increased

5. AD  rises                                                          


                B.. Public expenditure- It include  expenditure made by the government on various activities  

                 i.e. welfare of public , subsidies ,  public work ( road , bridge  etc.  )                  

	                          Excess AD
	                    Deficient AD

	In case of excess AD or inflationary gap government  decrease its expenditure which further decrease the AD as a result problem of excess AD is combated


	In case of Deficient AD or deflationary gap government  increase its expenditure which further increase the AD as a result problem of deficient AD is combated


                                                                 Sample paper 2

                                                       Section A : Micro Economics

Duration :   3 Hrs                                                                                                              Time :3 Hrs

1.  Define marginal opportunity cost.                                                                                               1

     Ans . It refers to the rate of change in the loss of production of y commodity due to increase in 

          production of one extra unit of x commodity.

2. Define budget line.                                                                                                                          1

    Ans.  A line which shows different combinations of a set of two goods which  are costing equal or less  

             than to the income of buyer…

3. What  will you say about TE in situation of unitary elastic Ed ,if price are fallings?            1

   Ans.  TE will remain same.

4. Define cost function.                                                                                                                     1

   Ans.  The functional relationship between cost and quantity produced is called as  cost function.

5. Define excess demand.                                                                                                                   1

   Ans.  A situation  in which demand is more than supply corresponding to the equilibrium price..

6. Distinguish between positive and normative statements .Give one example of each.            3

   Ans.

	Positive  Statements
	Normative  Statement

	i. These 

statements are related with what, how and why

ii. These 

statements are subjected to verification

iii. For example

25% population lves below poverty line


	i. These 

statements are related with what ought to be

ii. These are 

not subjected to verification

iii. For example 

to alleviate poverty population should be controlled   




7. Define MU how it is related with TU? Use diag.                                                                        3

          Ans. It refers to the  change in TU due to consumption of one more or less unit of a commodity.

                                               (MU = ΔTU / Δ Q

                                                Here ΔTU = change in total utility

                                               Δ Q = change in marginal utility

                                           ( MUn = TUn – TUn-1
         Relationship b/w TU and MU
         1. If MU falls but remain +ve TU increase at diminishing rate.

         2. If MU = zero , TU = maximum.

        3. If MU falls  and become -ve TU start falling

                    Q     TU    MU

                     0       0      0

                     1      8       8                                             TU

                     2     14      6                                            MU                                    TU

                     3     18      4

                     4      20     2

                     5      20     0                                  

                     6      18     -2

                                                                             
                                                                                                  0       Qty       MU                                  

                                                                 Or         

Distinguish  between decrease in demand and decrease in quantity demanded?

       Ans.  The difference between decrease in demand and decrease in quantity demanded may be  

                Given as    

	Decrease in qty demanded
	Decrease in demand

	1.It refers to the decrease in dd due to rise in price

  2.major reason risel in price

  3.other factors remain same.

 4. in it we move upward  on the same curve



price

                                      d


           0               Qty
   
	1.It refers to the less dd at same 

price.

2 Here own price will remain same

3. major reasons are-

a. fall in price of substitute  

    goods

b. rise in price of complementary  

   goods

c. If income of buyer deccrease

4. In it complete curve shifts to the leftward

price     d0   d
                            dec in dd


                        qty

    


8.  On the basis of information given below , compare the price elasticities of good A and B

    Price per unit(Rs)                   TE               Price per unit(Rs)                 TE   

                4                                    20                     3                                          15

                5                                    30                     4                                          24                                                3

Ans. In both cases with increase in price total expenditure is increasing.

         There is direct relationship between price and total expenditure so elasticity of demand in both cases  

         are less then unitary.

9. i. What will be the rate of TPP if MPP  is negative?   

    Ans.    TPP will fall                                                            

ii. Is STC zero at zero level of o/p? (Y/N)

      Ans.    No, because it includes TFC

iii. What would be the shape of  price line   if  TR curve is a horizontal line.                                                3
      Ans.     Rectangular hyperbola

10. State three ways in which an oligopoly firm may behave                                                                                   3

     Ans. The oligopoly may behave in the following wys

a. Collusive oligopoly

b. Non collusive oligopoly

c. Price leadership

11. Why  is  consumer equilibrium   attained at that point where Mux= Px.MU of money?     

     Ans.  It refers to a situation in which a consumer tries to maximise its satisfaction in his  given 

              resources and does not have any tendency to change untill the circumstances does not change.                                 

              Here     

              Resources of consumer are its—

              Income and circumstances means------  

· Income of   consumer                                                    

· Price of the commodity 

             Determination of consumer eq’m  in case of one commodity ( general condition)

                                                           MUx

                                               CE => ------  = MURs

                                                           Px                    

                                                 Let Px = Rs 1 /unit 

                                                 And MURs   = 30  utils

Then consumer eq’m may be explained with the help of following schedule and diag

	Q
	TE
	MUx
	MURs

	1

2

3

4

5

6

-
	1 2

3

4

5

6

-
	60

50

40

30

20

10

-
	30

30

30

30

30

30

  -

	    


MU                       E                                        

                                          MURS                                                                                                        

                                  MUX<MURs                                                          

MUx>MURs
                                         MUx                                 


            q0         q          q1  Qty-  -




MUx>MURs

     MUx= MURs

       (Eq’m)
MUx  <MURs

                                                           Or

  Let A and B are two related goods. How  will  the 
   price of A    effect the demand   for good B?                                                                                                                         4   

	 If A and B are Substitute goods      
	If A and B are Complementary    goods



	1.Those goods which  used in place of each  other and gives  less and more equal  satisfaction are called  as substitute goods.

2. There is direct rel. b/w price and dd for  each others          

3.If price of A rise dd for B  rises  

   If  price of A falls  dd for B falls   

                           

Price                      ddA       as PB


ddA       as  PB         d0   d    d1
                                       Qty
	1 Those goods which  are used jointly     to satisfy  particular  wants are called as     complementary goods.
2.There is inverse relation b/w price and dd for each  others

3. If price of petrol rise    dd for car falls

If price of petrol Falls falls.   dd for car increase

                                    

     Price                          ddA       as PB


ddA       as PB
                            d0   d    d1
                   Qty




12. IS MC = MR condition sufficient for determining producer equilibrium ?Explain.                                        4      

    Ans.  No  , MC = MR condition is not sufficient condition for determining the producer equilibrium.

              In order to determine the producer equilibrium second order condition must be satisfied which 

              Is—

              That MC should be rising. This approach may be explained as-

             Acc. to this situation producer’s eq’m will be attained at that level where   following  two      

             situations   are to be satisfied

              MR = MC

              MC should be rising  ( MC should cut MR from below)

              In perfect market MR curve is a straight line and MC is rising. The rising part of MC intersecting 

              MR curve from below at  point e  where both conditions are satisfied

             Whereas  at point A 

             Ist condition is being satisfied  (MR=MC) but IInd order condition is not satisfied because MC is 

             falling .Thus equilibrium is not attained at point A but it is attained at point e

	
                                                     MC

 MR       A                             e   M R=AR   

MC                                       
                               t

     O          Qty(  q1            q





13. What does  AFC  look like? Why does it look so? Explain with diagram.                                                                4

	                  Rectangular hyperbola

AFC

                                    AFC

                           Qty




   Ans. AFC looks like rectangular hyperbola.

            It is looks like that  because of

a. It is derived  from  dividing TFC by  output.TFC remain constant at all level of output so with increase in output AFC falls down.

b. Area under any point on AFC curve is same (Because TFC remain same at all level of output) 

  14. A. Define IC curve. Why it is –vly slopped downward?

Ans.  Indifference curve                                               

        A  curve which shows various   combinations of two goods which gives equal  satisfaction and                

        among which consumer is indifferent.  

comb.    X       Y

 

  A           1        40    

  B           2        20                                                                40              A                     

  C           3        10


  D           4        5                                              Y comm

                                                                                                 5                         D        

.                                                                                                                                      IC
                                                                                                               1         4      X comm

            Its slope is negative because  in given income a consumer cannot  increase the consumption of  

            both  goods simultaneously. 

             In order to increase the consumption of one commodity consumer have to reduce the 

             consumption of  other commodity. Therefore its slope is negative.

             B. Explain the inverse relationship between the price of a commodity and its demand?  3+3=6

        Ans. The inverse relation between price of a commodity may be explained in the form of law of         

            Demand which says that

	P
	Q
	    

Price 10

         4

                                       D

                       2 Qty     8

	10

 8

 6

 4
	2

4

6

8
	


            “ keeping other things constant there is inverse 

             relationship between price and quantity  

             demanded. Which means with increase in price 

             of a commodity its demand will fall and with fall  

             in price its demand increase .

             Here other things means factors other than own price.

14. What are the different phases of the behavior  of total  product in the law of variable proportion . Use diagram. Also state the reason behind behavior of each phase.               6

   Ans   Law of variable proportion may be explained in the following three phases                                  

                                              phase 1 : increasing returns

                                              phase2: Diminishing returns

                                              phase3: Negative returns

	Q

TP

MP

AP

0

1

2

3

4

5

6

7

8

0

2

5

9

12

14

13

13

12

0

2

3

4

3

2

1

0

-1

0

2

2.5

3

3

2.8

2.1

1.8

1.5

                                                                                      AP


                                                                          Qty     

                                                                                 MP




	Phases
	    TP
	     MP
	    AP

	1
	Initially increase at increasing rate
	Increase and reach at its max
	increase

	2
	Start increasing at diminishing rate

And reach at its max. 
	Start falling and becomes zero
	 Reach at its max. and start falling

	3
	 Start falling
	Falls and becomes negative
	Falls continuously but never become zero


15. i. Explain the implications of “ free entry and exit “ of a firm under the perfect market.

· Ans. Free entry--In long run Due to abnormal profit of the industry the   new firm start 

entering in the industry as a result profit of the industry start diminishing and this process will be continue until the total profit of the industry is wiped  out. 

· Free exit-- Due to

abnormal loss of the industry the   new firm start leaving in the industry as a result loss of the industry start diminishing and this process will be continue until the total loss  of the industry is wiped  out. 

          Implications 

                 A firm in the long run earn just normal profit.

ii. Explain the mutual inter dependency of  a firm under the oligopoly.                                                       3+ 3=6
      Ans.  Interdependency of firms under oligopoly

                 In oligopoly market there is heavy interdependency among the firms regarding output and price

                 For example there are two firms under oligopoly Firm a and firm B

                 If firm A increase the price in order to increase its sale t, the firm B will also  decrease its price in such 

                condition firm a will not be benefitted by lowering its price.

                On the contrary if firm A increase its price in order to increase its profit , firm be will not increase its price.As a  

               result firm a will loose its consumers , who will shift to firm B due low price in comparison  of firm A. 
                                                        Section2 : Macro Economics

16. Define transfer payments.                                                                                                                             

     Ans. The payments which are made without any kind of economic activities and which  arise  

         Without any contribution in the flow of goods and services.

17. Name two components money supply.                                                                                  1

     Ans. Notes, coins 

18. Define legal reserve ratio.                                                                                                       1

     Ans. The par of total deposits which a commercial bank have to keep in reserve according to direction of central bank  

              is called as legal reserve.

19. Define investment demand function.                                                                                     1

      Ans. The functional relationship between investment demand and rate of interest is called as  

       investment demand function.

20. If exchange rate increase from Rs 40 to $1 =R45 what will happen with exports?           1

    Ans. It means domestic currency is devaluated.

21.  Calculate compensation of employee

Item                                                                              Rs

Wages  and salaries paid in cash                            20000                                                      3

 Free accommodation and uniform                        4000

Insurance Premium paid by the employee            500

Employers contribution to PF                                2000

Income tax paid by the employee                           1500

Bonus                                                                        700

   Ans.

	                  Item
	Rs in Cr.

	    Wages  and salaries paid in cash

+  Free accommodation and uniform                        

+  Employers contribution to PF

+  Bonus


	  20000

  4000

  2000

  700

	= Compensation of employees
	26700


                                                                Or

 Why should the aggregate expenditure of an economy be equal to the factors payment ?  

Ans.                                                                                                      GDP                                                      



 Consumption Expenditure


Government Expenditure


Investment  Expenditure


Net Exports

22. Distinguish between intermediate goods and final goods.   Are all machines final goods.    3

 Ans.

	Intermediate goods
	        Final goods

	1.  Those goods which are used for further production are called as Intermediate goods.

2.Value in such goods yet to be added.

3.These are not  included in national income.

4.These goods are outside of production boundary.

5. For example-Raw material, a car purchased by a retailer.
	1.Those goods which areready for final use   are called as final goods.

2.No further value is to be added in such goods,

3.These are include in national income.

4.These goods are outside of production boundary.

5. For example- bread used by household, Machine purchased by a firm


              No all machines are not  final goods, A machine is a final good or intermediate good it depends  

              on the user. If machine is used by a household or a firm then it is called as final goods  but if it is 

              purchased by a retailer then it is called as intermediate goods.

23. Define money supply explain its components.                                                                              3

Ans.  Money supply    refers to total stock of money held by the public at a particular point of time

          Components of money supply

          It includes the following components

          i.e. currency, DD, and OD

                          [image: image1.png]l Notes

| currency





24. Explain “lenders to the last resort”  function of the  central bank.                                                        3

   Ans. Lenders to the last resorts

1.  In case of any emergency or financial crisis when a commercial bank fails to arrange the        

      resources in order  overcome that financial problem . Then in the last the central bank provides 

      them financial assistance according to the securities/reserves. In this way central bank  act as a 

      lender to the last resort.

2. It means in case of financial emergency/crisis central bank act as a guarantor and advances loans  to ensure their solvency

25. If value of domestic currency appreciate in  comparison of  German Mark. Explain its impact on exports  and imports of domestic  economy with Germany.                                                                                                                3 

   Ans.   Currency appreciation refers to the increase in the value of domestic currency in comparison of   

             foreign currency. Its impact may be explained with the help of following example

             Let initial exchange rate between Mark and Rupee is Rs.35 = 1Mark

             After appreciation of domestic currency new  ex.rate is Rs.30 =1 Mark

             Impact on exports

             Indian goods and services become costly to German therefore demand for Indian products will 

             fall down as a result Indian exports will decrease.

             Impact on imports

             German goods and services become cheaper  to Indian therefore demand for German products 

             will fall down as a result Indian imports will increase.

26. How is money supply is measured in India by RBI?                                                                                                4

 Ans.     Followings four approaches are used by RBI to measure money supply in india

              M1 = Coins + Notes +demand deposits + other deposits

 M2 = M1 + Post office savings deposits

 M3 = M1 + Net time deposits

 M4 = M3 + Net post office savings deposits ( excluding KVP and NSC)

27. What are the basis used to classify the tax receipts into direct  tax and indirect tax?                                            4

    Ans.  Following basis are used to classify the taxes into direct tax and indirect tax

	Direct tax
	Indirect tax

	1.Those taxes which are paid by the same person on whom it is imposed

are called as direct tax.

2.Impact and incidence lies on the same person

3.Burden can not be shifted

4.These are progressive in nature

exp- Income tax. corporate profit tax, wealth tax.
	1.Those tax which are imposed on one but partially or wholly paid by others are called as indirect  tax 

2.impact and incident lies on the different person

3.burden can be shifted

4.these are regressive in  nature

exp-sales tax, VAT,excise duty  etc.




28. If mpc is 0.9. What will be the value of Investment multiplier. How much additional investment  is required to increase the NY by Rs.5000 cr.                                                                                                                                          4

     Ans. Given mpc =0.9,   ∆Y = Rs 5000cr

a.    K  = 1/ 1- mpc

        = 1/1- 0.9

    K = 10

b.   ∆Y = k . ∆I

  ∆I = ∆Y / k

       = 5000/ 10

   ∆I = 500

Thus in order to increase the national income by Rs. 5000 cr. Additional investment of Rs 500 cr is required

                                                                          Or

            Why equilibrium level of income/o/p and employment is occurred  before or after the full 

             employment  is attained.    

     Ans. In situation of excess AD and  deficient Ad the equilibrium level may be attained before or  

             after full employment

a. Equilibrium before full employment-

It occurs in the situation of Deficient AD , means when   expenditure(AD) of an economy is less than   output(AS) corresponding to full employment level.

b. Equilibrium after full employment-

It occurs in the situation of  Excess AD , means when   expenditure(AD)of an economy is more  than   output(AS) corresponding to full employment level.

	                                       AS

                                                 AD o.f.
AD                                     Eof
AS                                                           ADf
                                       E                                          

                                   

                                                         ADuf
                            Euf

                                 Q              Qf   Income

	   Acc. to diag Eqm may be strike  at

a. Full employment level

b. Under full employment

c. Overfull employment level

In diagram point

E – Eqm at full emp. Level

Eof - Eqm atoverfull emp. Level

Euf- Eqm under full emp. Level

And

ADf    = AD at full employment  

               level

ADof = AD at overfull  

              employment level

ADuf = AD under full 

              employment level




30.  In an economy  S= -50 + .5Y is the saving function and investment expenditure is Rs 7000 cr. 

Calculate

a. Equilibrium level of  national income

b. Consumption expenditure at equilibrium level of  income

c. Value of investment multiplier

   Ans.  a.    At equilibrium level of income S  = I

                    Given S = -50 + . 5Y and I = Rs. 7000 cr

                    So at equilibrium level

                                 -50 + . 5Y  = 7000 cr                

                              . 5Y  = 7000 +50

                                   Y = 7050/ .5

                                    Y=Rs.14100 cr

      Equilibrium level of  national income =Rs.14100 cr
              b.. Consumption expenditure at equilibrium

                    savings at equilibrium level = Investment   = Rs. 7000 cr    
                                     Consumption        =  income – savings

                                                                   = 14100-7000

                                       Consumption      =  Rs. 7100 cr

                    Consumption expenditure at equilibrium =  Rs. 7100 cr

               c.. Investment multiplier (K)

                    As we know that 

                                                              K  = ∆Y / ∆I

                                                                   = 14100 / 7000

                                                                   = 2.01

                 Value of investment multiplier (K) =2.01          

                                                                          Or

Explain the concept of under employment equilibrium by using C,I approach. Show on the same  diagram the additional investment expenditure required to reach full employment equilibrium.                                                6     

  Ans.   The situation of under employment equilibrium exist when AD is less than AS or resources are 

              not fully utilised’

             Acc. To C,I approach the eqm level is determined at that level where C + I = AS
             Let in an economy eqm  is attained at Rs.400 Cr which is a situation of underemployment             

             equilibrium

             and level of investment (I) = Rs 100 cr

             Suppose full employment level is attained at Rs. 500 Cr 

             Then additional requirement of investment is =Rs. 50cr

             This situation may be explained with the help of following schedule and diagram

	Emp.
	AS


	C
	I
	C+I
	I1
	(C+I)I1
	

	0

100

200

300
	0

100

200

300
	100

150

200

250
	100

100

100

100
	200

250

300

350
	50

50

50

50

50

 
	250

300

350

400

450

 
	Under full employment eqm

Full employment equilibrium

	400
	400
	300
	100
	400
	
	
	

	500
	500
	350
	100
	450
	50
	500
	

	
                                                                   AS

                                                                         

        AS, C              

           I                                                    E1           (C+I)+I1
         C+I                                                                                                                                      

                                                                               C+I

                                                     E                  

                                                                                C

              150                                                                  I1
              100                                                                   I                                                                                   


                                                     400      500(QF)

                           Output/Income/employment

E= underfull employment equilibrium  =Rs 400cr

             E1= Full emp. Equilibrium =Rs 500cr.




31. A. Give the meaning of Nominal GDP and Real GDP. Which of these is the indicator of economic   welfare.   

Ans.                                                                                                                                                                             3+3=6

	         Nominal GDP
	               Real GDP

	 When GDP is estimated at current year price ,it is called as nominal GDP
	When GDP is estimated at Base year price ,it is called as nominal GDP


Real GDp is the true indicator of economic welfare  

            B. Define revenue deficit. State its implications.                                                                3+3=6

  Ans.   Revenue deficit

            When revenue expenditure is greater than revenue receipts it is called as revenue deficit.

                                              RD = RE > RR
             Implications

a. It means govt. is spending more on  consumption activities,

b. It implies dissavings  from other developmental activities   by the government.

c. It implies borrowings for consumption activities.

d. It increase debt burden on government.                                             
      32.  calculate (a) personal disposable income and ,(b) National income from the following data  6

                    Item                                                                                                         Rs in Cr.                                                                   

1. Rent                                                                                                      1000

2.  Mixed income of self employed                                                         4000

3. Profit                                                                                                     1500

4. Income from domestic product accuring to 

private sector                                                                                       3000

5. Compensation of employees                                                               35000

6. Reimbursement to the employee for medical expenses                   1000

7. consumption of  fixed capital                                                             500

8.  Excess of fact or income to rest of the world

 Over factor income from rest of the world                                      1200

9.  Excess of imports over exports                                                         400 

10.  Corporate profit tax                                                                          200

11.  Net   retained earnings of private enterprises                                1200

12.  Interest                                                                                               700

13.  Net indirect tax                                                                                  540

14.  Direct personal  tax                                                                           200

	Item


	Rs cr

	 Rent                                                                                                       

+  Mixed income of self employed                                                          

+  Profit                                                                                                      

+ Compensation of employees                                                                

- Excess of fact or income to rest of the world

   factor income from rest of the world                                       

+ Interest                                                                                                

 
	1000

4000

1500

35000

-1200

700

	NNPfc
	10000

	      Income from domestic product accruing  

       to private sector                                                                                        

  -  Net   retained earnings of private     

     enterprises                                

  -  Corporate profit tax                                                                           

 -   Direct personal  tax                                                                                  

	3000

- 1200

-200

-200

	Personal disposable



	1400


Paper Submitted By:
Name
 Raghuvanshi Kuldeep

Email
raghuvanshi.kd@hotmail.com

Phone No.
09050850046
TP =max





increasing returns





   TP /MP /AP





S-III





TP





Dim.


returns





S -I





S -II





neg.


returns





MP=0





TP =max





increasing returns





   TP /MP /AP





S-III





TP





Dim.


returns





S -I





S -II





neg.


returns





MP=0











 Wages


Rent


Interest


Profit








  Income





 Expenditure





  =





 with RBI, except govt and comm.. banks





Deposits with semi financial institution i.e. IDBI 





Other  deposits





Demand deposits








www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com | www.niosguess.com | www.iitguess.com

